Maths- Add Two 4 Digit Numbers

Add Two 4-Digit Numbers 2 Add Two 4-Digit Numbers 2

1a. Mmatch the addition calculation to the 1b. Maich the addifion calculafion fo the

comect answer.

comect answer.
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2a. wWhat number is missing from the

calculation?

2b. what number is missing from the

calculafion?
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3a. Complete the calcvlalion. 3b. Complete the calculafion.
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4a. Complete the calculation so that the

miissing digit leads to an exchange.
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4h. Complete the calculafion so that the
missing digit leads to an exchange.




